CRG 2010 PARTS LIST

ES COD ITEMS ITEMS BLOA M
1 FCO0.00060 Puffo AT7YY9 Y47k STEERING Wheel Column PUFFO ¥9,765
2 FCO0.00545 MINI RF7Y)Y9 Y%7+ STEERING Wheel Column Mini/Baby ¥9,765
3 FC0.01513 ATTVUHY%7h 100 05/6H STEERING Wheel Column 100/125 ¥9,765
4 FC0.00041 AFPYY9"¥47h 100 STD/4H STEERING Wheel Column 100 2004 ¥9,765
5 FCO0.00883 AFTYUY Y%7 100 Mik—)b/10H STEERING Wheel Column100 MHole ¥9,765
FC0.01514 AFPYYTY%7F 125 CRG 05 ST.COLUMN 125(xLeverFC0.00352) ¥9,765
FC0.01636 AFTYYY Y%7+ DD2 STEERING Wheel Column DD2 ¥13,230
AFS.00243 ATTYYY A LYK -+ STEERING Wheel Column Support ¥3,150
AFN.00154 ATPIVY %7b =)0 D22 SEEGER D 22 Steering Column ¥105
ATPVUI Y%IMNTYVY PB8 STEERING Column RIGHT Ball ¥2,100
10 FAN.00356 ATPYYY 5L ~bAvY BLK STEERING Column Bushing BLACK ¥735
AFN.00093* NUT M 6
AFN.00357 GRAIN M6x10 Steering Column B.
11 FFN.00175 ATTYYYE A Mag 100 STEERING Wheel Hub100 BLACK ¥4,935
12 FFN.00328 ATTYVY KA Mag 125 STEERING Wheel Hub125 BLACK ¥4,935
AFS.00537 PUFFO RF7YvY STEERING Wheel PUFFO ¥19,950
AFS.00174 A9I-MRFTYYY" CRG Logo STEERING Wheel CRG/Diesis/Alc. ¥22,050
17 AFS.01955 M=%V ATT7JU9° CRG Logo CARBON Look CRG Steering Wheel ¥31,500
FAN.01626 ATTYUY R A NewAge STEERING WheelHub100 NewAgelnc ¥6,615
FAN.00893 AFPYVY R R Alu 100 BLK STEERING Wheel Hub100 NewAge06 ¥5,670

BmOMAR - ERIEFEECEET BHEHHVET



CRG 2010 PARTS LIST

84 1 5 i g
I |
b x
6
7 = =
8 9 10 —d n 12 13 Py
’ 2.
/ .. /
N\ /
ES COD ITEMS ITEMS BUA MG
1 AFS.00515 GAS Cable
1 AFS.01364 CLUTCH Cable
2 AFS.00590 BRAKE Cable
3 AMS.00516 SHEATER D6 for Clutch
3 AMS.01370 SHEATER D5 for Gas Cable
4 AFS.00514 HOLDFAST
5 AFS.00257 CABLE adjuster
6 SBN.00342 FTPUN = AVF—AN=H}— GEAR Lever125 Int.Spacer125 Bl ¥378
7 SL1.00940 GEAR LeverMINI Int.Spacer
8 FBN.00340* 7L = kWb 125 Gear Lever Screw Black ¥1,890
9 FBN.00939* MINI Gear Lever Screw Black
10 AFN.00341 vIki7" ovyy’ OR Gear Lever Pommel ¥105
10 FMN.00339 ¥'7Lin'— 125 BLK Comp GEAR Lever CRG 125 BI.Co. ¥15,750
10 SAN.00344 ¥'FLn-)7" 125 BLK GEAR Rod 125 Pommel Black ¥2,100
10 SAN.00348 ¥'7oyh 125 BLK GEAR Rod 125 Black ¥4,935
10 SCO0.00339 £ 7LN- 125 GEAR Lever CRG 125 ¥9,450
11 FMN.00938 GEAR Lever MINI Black Comp.
11 SAN.01290 GEAR Rod Mini Pommel Black
11 SAN.01371 GEAR Rod Mini Black
11 SCO0.00938 GEAR Lever CRG Mini
12 SAN.01766 ¥'7LiN'=)7" 125 06 BLK GEAR Rod 125 06 Pommel Black ¥2,100
13 |CRG.01884 »39Fbn'— 2008 Comp Clutch Lever 2008 Complete ¥14,700
FC0.01884 939FbN— 2008 CLUTCH Lever 2008 ¥7,980
SAN.01925 H39Fbn =393y 08 CLUTCH Lever 08 Connection ¥4,095
AFN.00360* NUT M 5 Low Self-Locking
AFN.00093* NUT M 6
AFN.02147 GRAIN M6x12 x Clutch Lever
AFN.01872 GRAIN M6x35
AFS.00257 CABLE adjuster
AFS.00082 PEDAL Cap
AFN.01924 M 5x 16 Rectifier Stem Screw

BmOMAR - ERIEFEECEET BHEHHVET



CRG 2010 PARTS LIST

74
1
2
3 4
@ ; b At a @

ES COD ITEMS ITEMS BLAM
1 FAN.01808 44nyb /3998 165mm BLK ROUND Track Rod Cm.16,5 BLACK ¥3,885
1 FAN.00718 4409k /A¥431°y 190mm BLK HEXAGONAL Track Rod Cm.19 BlI. ¥3,885
1 FAN.00717 44Oyh /A¥4#3°y 200mm BLK HEXAGONAL Track Rod Cm.20 BI. ¥3,885
1 FAN.01538 44Oyh /A¥431°y 207mm BLK HEXAGONAL TrackRod Cm.20,7 BL. ¥3,885
1 FAN.01441 44Oyh /A¥43°y 210mm BLK HEXAGONAL Track Rod Cm.21 BI. ¥3,885
1 FAN.01539 44oyh /A¥431°y 217mm BLK HEXAGONAL TrackRod Cm.21,7 BL. ¥3,885
1 FAN.00995 44Oyh /A¥43°y 220mm BLK HEXAGONAL Track Rod Cm.22 BI. ¥3,885
1 FAN.00546 44Oyh /A¥4#31°y 230mm BLK HEXAGONAL Track Rod Cm.23 BI. ¥3,885
1 FAN.00813 440yh /A¥431°y 240mm BLK HEXAGONAL Track Rod Cm.24 BI. ¥3,885
1 FAN.00814 4409k /A¥4#3°y 250mm BLK HEXAGONAL Track Rod Cm.25 BI. ¥3,885
1 FAN.00822 4409k /A¥4#31°y 260mm BLK HEXAGONAL Track Rod Cm.26 BI. ¥3,885
1 FAN.00815 44Oyh /A¥431°y 265mm BLK HEXAGONAL Track Rod Cm.26,5 BL ¥3,885
1 FAN.00612 44Oyh /A¥43°y 270mm BLK HEXAGONAL Track Rod Cm.27 BI. ¥3,885
1 FAN.00816 44Oyh /A¥431°y 275mm BLK HEXAGONAL Track Rod Cm.27,5 BL ¥3,885
1 FAN.00045 44Oyh /A¥4#31°y 280mm BLK HEXAGONAL Track Rod Cm.28 BI. ¥3,885
1 FAN.02027 44Oyh /A4y 285mm BLK HEXAGONAL Track Rod Cm.28,5 BL ¥3,885
1 FAN.02028 4409k /A¥4#31°y 330mm BLK HEXAGONAL Track Rod Cm.33 BI. ¥3,885
2 FAN.00070 44nyb /3996 180mm BLK ROUND Track Rod Cm.18 BLACK ¥3,885
3 44y e'ok’-L/R RIGHT Ball Joint ¥1,995
4 44oyb 'Rk -L/L LEFT Ball Joint ¥1,995

FBN.00252 440yb AN —H— 85x16%5 TRACK Rod Spacer 8,5-16x 5 ¥420

BmOMAR - ERIEFEECEET BHEHHVET



